MATHEMATICS EXTENSION 1 - MARKING GUIDELINES

Section I

Normanhurst Boys High School
2013 HSC TRIAL EXAMINATION
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11(c) (3 marks)
Outcomes Assessed: 05
Criteria Marks
o Obtains correct linyits 1

g

1
Obtains /==
] ains 5 J.[

1

du
T
u?

e CoiTect answer

Answer
=1+
1
—du=xdx
2

.\:=J§—Hr=9
x=0 —u=1

Question 11 {15 marks)

11(2) (2 marks)
Owdcomes Assessed: 03

Criteria

Marks

¢ Use sine of the sum

o Coryect answer

Answer
sin75° =sin{45° +30°)

=3in45° cos30° + cos45° sin 30°

11(b} (3 marks)
Ouicomes Assessed: 03

Criteria

Marks

e Obtains correct gradients

o Correct substitution into formulae

¢ Correct answer

Answer

2
H——
=

{an 45° = 2.
2m
3

3m-2  342m
ENER
3m-2
3+2m
Su—2 -1 or Im-2 -
3+ 2m 34+2m

iz

=1

1
m=5 or m=—=

3
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11(d} (3 marks)
Outcomes Assessed: 02

(%]

Criteria

Marks

° Multiplies throughout by »* (x~2)°

s Obtain x(x-2)(x+2)(x-1)<0

s Comrect answer

Answer

i X

;+(x—_2-)-<0

w{x—2)" 457 {x—2}<0

.\:(.t—?.)[(x-2)+x2] <0

x(n:-2)[x3 +x—2:| <0

*(x=2)(x+2){x-1)<0

—2<x<0 l<x<2 (fromdiagram)
o

11{e) (i) {2 marks)}
Quitcomes Assessed: 01

Criteria

Marks

s Comrect graph for p=4-x?

e Correct graph for y=|3.x|

Answer




11{e} (ii) (2 marks)
Outcomes dssessed: (1

Criferia

Mark

o Salve for both points of intersection

o Correct answer

Answer

Solve

4—x =[5

4—x" =3x or 4-x*=-3x
3Ix—4=0
4)(x+1}=0
4,-1

#+3x-4=0 or X~
(z+4)(x-1)=0 or (x—
xr=1-4 x=
check sohuions

correct soluiions : x =]

hence from diagram x<—-lor x>1
A o

Question 12 (15 marks)
12(a) (2 marks})
Qutcomes Assessed: 04

Critexia

Marks

e Achieves cosa m-z-and sine =-4—

o Coirect answer

Answer

N

Leta=cos” ==
4

~sin [Zcos" -‘?—] =sin{2a)

Also cosa = -{i, henee sina = % (pythagoras)

sin [2 cos™ l?—

J:sin(Za)
=25in & cos

V5 3
4 4

Rl

=2,

8
8

4%,,“
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12(d}) (i) {2 marks)
Ouicomes Assessed: O4

{,“,-,. i T
¥

12(6} () (1 mark)

Outcomes Assessed; 03

Criteria Mark
e Correct answer reasoning 1
Answer
A0=08 (vadii of circle centre 0)
12(b} (ii) (2 marks)
Quicomes Assessed: 03
Criferia Marks
s  Notes that Also ZAZ0=90° with reasons 1
o Comect answer with correct reasoning 1

Answer

If from (i) AOAB is isosceles

Also LAZ0 =90 {angles in & semi-cirele are right angles at the circumference)
~AZ =28 (aline from the apex of an isosceles triangle which meets the base at right

angles, bisects the base)

12(c) (3 marks)
Outcomes Assessed: 03

Criteria

Marks

s Obtains fan 4-+tan B =4 or tan Atan B=9

1

tan A+ tan B
¢ Uses tan(A-l—B):—_ml—tauAtanB

1

s Correct answer

1

Answer
tanA+tan B = _b
a

tan A+tanB =4
tan dtan B=S
a
tandtan B =9
tan(A—i-B)u tan A +tan B
l=tan Atan B

|+

1

1
o

D | —

Z{A+B)=153"26", 333°26'
=153°,333°
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Criteria

Marks

o Makes a positive atternpt to solve obtam the remainder by longdivision

s (Correct answer

Answer
Plx)=x'+3x° +6x° +ax+b
By long division

P(x)=(¥ +2x+1)(x* +x43)+[(a=7)x+(b-3)]

~R(x)=(a—7)x+(b~3)

12(d) (it} (1 mark)
Outcomes Assessed: 04

Caiteria

Mark

s Correct answer

Answer
3u+2=(a~7)x+(b-3)
sa=10 and b=5

12(e) (i) (2 marks)
Outcomes Assessed: 03

Criferia

Marks

o Uses the double angle correcily at least once

s Correct answer with correct working

Answer

sinAcosdcos2d= %sin 44
LHS = —;-[ZSin Acos Axcos 24}

=-1* sin2A4xcos2Ad
2

b4

12 { =

[2sin2.4xcos2.4]

Bl R

sind A

é
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12(e) (i) (2 marks)
Quicomes Assessed: O3

Criteria

Marks

e Achieves af least 2 of the correct answers

e Correct answer

Answer
1 sindd =10
4

sindd =0
4Ad=0,7,27,37,45.....

Queestion 13 (15 marks)
13(a) (3 marks)
Outeomes Assessed: 02

Criteria

» Proviteselear steps similar to the first three steps below

e Makes a substitation in step 3 (fromrstep2)____

e

o Provides a clear working to obtain-the fequired result and provites-a—— | 1

conclusie I
Answer
542 |t dim Step1&3
Step 1: Prove the expression is true for n=1 < 2 — USing G Hiunphin
525 (true) LHS=gl=5 ep Fmt?m—gn']ﬁ
For \eus = etxis S =
ye — A pareet—

Assume the expression {s true for n=k (where k is even)

{2,521+ dk (where kisa positive integer)

Stepg : Prove the expression is frue for n=k+1
125 21 4(k+1)
5.5 24k +5

.

st lle— £ .20

Mowr LHS . =55 -4k-5

2 5(1+ 4k) -4k —3
=16k20 (=)

{from assumption)

" Hence ifthe expression is frue when n=k, it is tree when n=k-+1

SH’F 3 Ifthe expression is true for n=1, .. it is true when n=2

If trae for n=2, .. itis true when n=3
Therefore the expression is tme for all n,n21.
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13(b) (i) {2 marks)
Outeonres Assessed: 04

Criteria Marks
o Show gradient of tangent at P=p 1
o Achieves y=pri—ap® Wit _guﬂiﬁdw besveireg 1

Answer o¢*= L;—aU

Gradient of tangent at P = é‘%& =p
Equation of tangent at P

y —ap? = p(x — 2ap) S
¥y — ap? = px — 2ap®

y=px—ap’

13(b) () (1 mark)
QOutcomes Assesseds 04

Criteria

Marks

»  Correct working to achieve 7

Answer

Tangent: y=pax—ap®
For Z: substitute y=0
pr—apt =0

x=ap

Z ={ap,0) v

13(b) (ii) (2 marks)
Outeontes dssessed: Q4

-~

Criteria

Marks

¢ Obtains midpoint,, =(% @

s Correct answer .,4-,- facus
3

Answer

Q:(—Qap,apz) symmeteyof parabola ap* .
Kamaaz—.u ptar otyo\ | 2 ®
_ap 2petar | oo
>

2
ey ap’
- nidpoint =(—-,—£“ -__"2_'_) —2x

2 Lo

—ap L/ 2\ «
hencex:-—-g— --—~® . .Qi
2 a

p=—

Sub vk @,

2x3=ay is -f'[ug faces c._F ﬁ’h‘#u{’a‘.‘f; af&Z‘.
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13(e) (iii} (2 marks)
Outeomes Assessed: O4
Criteria Marks
¢ Usesthe-correst-formulas and makes a good sttempt at achievinganswer [ 1-
v COITECT ATSWer R
Answer

P(x)=2tan" (x)-..zl

. Pl)
)
1o P(10
P{10)
10+0.4423
0.230

=11.92 (2decimal places)

13(d) (3 marks)
Cuicomes Assessed: 05

Criteria Marks
»  Differentiates correctly —

o Teuates varions ratescorreetly- 1

| » Achieves comeetamsWer L
Answer

£+ =25

y=N25-2* (y>0)

dy _ -X -

RN Tl

dx
Now —=
at

dy _dy dx

W wa Vo

d—y = — xl

dr o542
Now when y=4, x=3

Q = ._.ﬂ_"_x 1

dt J25-3° )

= —iu(i.e.wi- metres per second down the wall) v @

Note: A quicker method using the implicit function rule can be used by Ext 2 students.
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11

xzv=2sintcost

13(c) (i} {1 mark)
Ouwuicomes Assessed: O4
Criferia Mark
Correct diamram gronh Wil asyrpiofes [abeled, 1
[ b

Answer

13(c) (i) (1 mark)
Ontcomes Assessed: O4
Criteria Mark,
o Correct answer 1

Answer
tan™ (x) -2 =
2tan (1) r
“1f. _iﬂ_
2tan (Ja.)-—4

;- + (ovaph y=2tan (i) and y=§ 4o show ot Fhore & mwl-‘} a2 peint of
{aferectdan ((2'3) -ﬁ»—z>o

- B
____.____:lé,_..“__m:‘ﬁ_ &
f Y= D denls
P T R F A M m S (e
4
= g — — — =
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Question 14 (15 marks)
14(a) (i) (2 marks)
Onicomes Assessed: 05
Criteria Marks
» —chievesthe-acceleration formulae in any form. . ———————" | 1
o _Comechwearkimg " 1 .

Answer Aerig Bire sefhaticnn

x=2+sin’t —@

¥ =cost(2cost) + 2sin#(~sint) r/
=2.[c:cas2 t—sin® t]

= '2[1—-sin2 t-sin® t] =
=2[1-2sin*¢]

=2[1—2(X——-)] u;}n_?@

=2[1-2x+4]

=10—4x

=-4[x--§-) l//

2

Since in the form of X= —nlx, therefore SHM.
wheerte X = (2~23 and n=z

7€ = S ot
2w Dies 2

=2 (| —2si)

=2 [:I - 2('><-27J M&;"»? @

~ (x-%)

14{a) (ii) (1 mark)
Ouicomes Assessed: 05
Criteyia Maxk
s Correct answer 1

Answer
=0

10-4x=0
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14(a) (iii) (2 marks)
Ouicomes Assessed: 05

Criteria Marks
o Achieves = G,i},ﬁ,;?- ..... !
o Correct answer with Suﬁ-’,f.-,:sz- wa'nénﬁc? 1
A
Answel
yv=0 & Particle dmkﬁ% directon,
v=2sintcos? < + —5
2sinfeosz=0
~.$int=0 cost=0 T:aEf:%
a =% 25
f=0,7,27,3%... t=£,£,—5-£ -;-'
2°2°2
7 3z :
= O,E, R’,’E— ..... /
en £=0 x=2
t= %T— x=3
i=m x=2 I/
t= 2 x= '.§ @
.~ total distance=3cm
14({b) (3 marks)
Outcomes Assessed: O3
Criteria Mark
¢ TFind AC 1
e Find £ABC 1
o Correct answer o area 1

Answer

AABD,  AB* =242 +6.47
AR = 6.835m
ACBD, BC? =242 +5.22
BC = 5.727m

AACD,  AC? =64%+522-2%x64x52x%c0s125° 7

A€ = 10.304m

AB? 4+ BC? — AL
=002
AABC, coSLAB AR (BO)

_ 46.72+32.8-106.17
T 2(6835)(5.727)

£ABC = 109.5° v
Arca AABC = = x 6,835 % 5.727 X 5in109.9°

z
= 18.4m? {1dp) o
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or = m\[' z =
¥ 2 o ° - s

<0.577

~10¢ +50
120
43.68 <|-10¢ +50| < 69.28

0.364<

= 4368 < lot—50<&q,2B

As the flight path is in a downward direction y<0.

Hence

l//
-

v’

11.928 =t

5010t > —69.28
0,868 <r<11.928

0.87<1<11.93

0.868<¢

Ve

50-10r <—48.68

14{c) (i} (2 marks)
Qutcomes Assessed: O3
Criteria Marks
o Showxandy witf. scfficiersr— twoiksns 1
o Comectxandy Wil pesrfcus ghavem 1
] ”
Answer %=0 Lg =-te
enael - sngel md 2 1 w=6 P EeFECa
a—ﬁ,..sma—ﬁm cosau-]-é— When o , o x W cape Lo oo, Gaviiia
el 10 S GV ess D la s kK
\T\_.‘ ¥= / T VOoSe g'-‘- D o VMR,
_:;:vcu}a_\ j::—l{) vsing ) C?DYT[& =0 o (Fen g
- / 5 =120 - e
“PE 106+ 130K — = mtoE 45%

- 12
x=130x—

V 13
=120 T p=—100450

KTp2ok+Cy
tder. = =
x;—’lﬁ y=-—5t’+50}l§\ L TEey ERE
L EETO
o= zod

14{c) (ii) (2 marks)
Outcontes Assessed: 05

Y= et s

bbtn 20, Yuif
LIS =l

Y= Gt

Criteria Marks
2 2
m?ﬁﬂ%y}_wd works towards answer — =" —
Eiper= et s
o—CorrEiTansWer L1
Answer
A 3 N 3
SORD
2 - -~
(60f5) =120) +(-10+50) v
18000 =14400+ 100 —1000z+2500
100¢% 1000 ~1100=0
£ -10t=11=0
{t-1)(r+1)=0
1=11,-1
£=11 (1> 0)
x=1i20 (1 1)
=1320m l/ @
2013 NBHS Maths Extl Triel HSC Exain Marking Guide 14

END OF PAPER
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